ANSWER KEY

YEAR : 2021
LEVEL : PRIMARY 5 )
SCHOOL : TAO NAN SCHOOL
SUBJECT : MATHEMATICS
TERM : END OF YEAR EXAMINATION
BOOKLET A
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Q19 | 48s+2s5=50s
Q20 | 12x2=24
ans: September
Q21 | 965203
Q22 | 15+5=3
5 _10
6 12
3x10=30
Q23 | A:C
6:16
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Q24 | 50-35=15
15_30
50 100
=30%
Q25 | 1.6m=160cm
160cm-3cm=157cm
157cm=1.57m

More papers on SeriousAboutSchool.com/OnlineExams



More papers on SeriousAboutSchool.com/OnlineExams


Q26

v

Q27

605 350mi
205> 450ml+-3=150ml

Q28

4+8+4+4+6+2+2+2=32cm

Q29

$0.40%6=%3
$9-$3=$6
6+4=$1.50

Q30

4
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ANSWER KEY

YEAR

LEVEL 2

SCHOOL & ATIAN SCHOOL

SUBJECT NYINHEMATICS

TERM AENINOF YEAR EXAMINATION (PAPER 2)
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1
1ﬁ-1.1kg 1014
$1.68x11=S15f:t2

32°+77°=109°
180°-10

ans: Sundaygm

400

e

8
s

2m+1d=>» $9.1

1m+2d=

3m+3d= ,.80
=$21.90
1m+15EFEN00+3=$7.30

16x9
1440+

7x4=jE
1440

4488 of wElGdiTneeded to fill it completely

49+6 yeﬁ old
Kai X 55 year old

Q10

100% gL o=
75%=» 1800
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Qi1

6-3=3

1 x3x(3+6)=13.5

> x6x6=18

6x6=36

3x3=9

-;- x3x3=4.5
36+9+4.5=49.5
49.5-13.5+8=18cm’

Q12

a)

A:M:S

6:6:6

b)

68+4=12

17x18=306

a) The ratio is 1:1:1

b) The total number of sweets is 306

Qi3

628+4=157
4+0+1+2=7
627+4=156R3
156x7=1092
1092+4+1=1097
a)2

b)1097

Q14

a)
$11x2=$22
$22-$14=5$8
b)
$14-$8=56
5x$14=570
5x$8=$40
$70-$40=$30
a) $8

b) 5

Q15

a)ll.45a.m. b)1 hour and 45 minutes

Q16

36+3=12

12x2=24

12x5=60

60+28=88

88+4=220

22x7=154
a)TheruunberofpagesreadinSunday\~a524

b) The total number of pages in the book was 154

I
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Q17 | 5U=186—(27x3)
=105
1u=105+5

=21

2u=21x2

=42

42+22=64
42+27=69

a)21 beads

69 toothpicks

A D
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